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Multiplication — 2

1.15X9= (Use tables to solve)
a) 135 b)
c) 145 d)
2. T 0
X
a) 62 b)
c) 82 d)
3. H T o
5 6
X
a) 786 b)
c) 768 d)
4. H T o)
2 6
X
a) 830 b)
c) 730 d)
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125

None of these

72

92

778

None of these

630

None of these
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5 H T o
2 0
X
a) 816 b) 716
c) 616 d) 516
6.89X10=
a) 980 b) 890
c) 780 d) None of these
7.56X20=
a) 1020 b) 1050
c) 1120 d) 1220
8.97X___ =970
a) 20 b) 5
c) 10 d) 30
9.123X30=
a) 369 b) 6390
c) 936 d) 3690
10. 245X 40 =
a) 9800 b) 8900
c) 7800 d) None of these

11. A box has 10 pencils in it. How many pencils 25 such boxes will have?

a) 150 b) 200

c) 250 d) 300

12. A sweet cost Rs. 13. How much 8 sweets will cost?

a) 204 b) 104

c) 304 d) 404

13. A road train can carry 525 passengers. How many passengers 7 such road trains can carry?

a) 3765 b) 3655
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b) 3555 d) 3675
14. There are 127 books in a packet. How many books will be there in 8 such packets?
a) 1016 b) 1026
c) 1036 d) 1046

15. In an office building there are 226 rooms and each room have 4 electric bulbs. How many electric
bulbs are present in that office?

a) 804 b) 904

c) 704 d) 604
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